Hi!
I want to make 3 very simple Strategies into 1 EA.
These Strategies are very simple (1 line coding) and profitable in test(see the pics).
So, there will be 3 Entering Rules, and they exit with fixed TP or SL.
Rule 1 has TP1, SL1,
Rule 2 has TP2, SL2
Rule 3 has TP3, SL3
(Rule 1 & Rule 2 is in fact identical.  See "Trend Filter".)

If we entered a position through Rule1, then we don't enter(buy or sell) until the previous position is exited( with TP1 or SL1).  But we can independently to Rule1 enter through Rule2 or Rule3.

So, 3 total independent Strategies in one EA.

I want to give these 3 Strategies some structures.


1. Trend Filter:
Trend Filters are for current TF and a higher TF.  It is from a simple MA-Method.
There should be some inputs like:
Trend_Cur1(True/False), Trend_Higher1(True/False),
Trend_Cur2(True/False), Trend_Higher2(True/False),
Trend_Cur3(True/False), Trend_Higher3(True/False).
· If Trend_Cur2 == False, and Trend_Higher2 == False, we do not use for the Rule 2 entry no Trend Filters.
· If Trend_Cur1 == False, and Trend_Higher1 == True, we use for the Rule 1 entry,  only Trend Filter for higher TF.  In this case we should choose which TF, and some MA periods.

· Rule 1 & Rule 2 are same, but differ having different Trend Filter and differnt TP, SL.
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     (Rule 1 with some Trend Filter)            (Rule 2 without Trend Filters)
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(Rule 3 without Trend Filter)


2. I want to permit 2nd Position( == a 1 time Martingale)  
Inputs: 2nd_1(true/false), 2nd_2(true/false), 2nd_3(true/false):

 If 2nd_1 == true, then we permit 2nd Entry in the Rule1.

We enter 2nd at better price, with Lot12, SL12, TP12. 
For example, assume we entered buy with Lot11, TP11. (if 2nd_1 == true, we ignore SL11)
If this hit the TP11, it’s OK.  We repeat the process.
If this doesn’t hit TP11, then we enter 2nd buy at (1st Entry_Price – dist1) with Lot12, SL12, TP12.
In this case, we take profit at (2nd Entry_Price + TP12 pip).  We close all Lots(Lot11 & Lot12).
Or we take stop Loss at (2nd Entry_Price – SL12 pip). We close all Lots(Lot11 & Lot12).

If 2nd_1 == true, 2nd_2 == false, 2nd_3 == true, we permit 2nd Entries in the Rule1 and Rule3, and we don’t permit the 2nd Entry in Rule2.  
So, in this case,
Rule1 use Lot11, TP11, dist1, Lot12, SL12, TP12
Rule2 use Lot21, SL21, TP21,
Rule3 use Lot31, TP31, dist3, Lot32, SL32, TP32


3. Martingale: For each entry rules, after n continuous Losses, we enter next enter with Mart_Start_Lot.  If this also ended with SL, we double the Lotsize:

After n1 fails(ended with StopLoss), we start Martingale for the Rule1 with Lot = Mart_Start_1.  
  After n2 fails(ended with StopLoss), we start Martingale for the Rule1 with Lot = Mart_Start_1.
  After n3 fails(ended with StopLoss), we start Martingale for the Rule1 with Lot = Mart_Start_1.

=> Say, n1 == 3, Mart_Start_1 = 0.4 and we have 3 continuous fails with the Rule1 (with original Lotsize 0.1), then in the next Rule1 entry, the Lotsize will be 0.4.  If this will be also a fail, we enter in the next Rule1 entry with the Lotsize 0.8, next 1.6, ... until we end with Profit Target.
After Success, we begin with original Lotsize 0.1.
For Rule2, Rule3 Entry we go the same way, with input values n2, Mart_Start_2, and n3, Mart_Start_3.
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